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But rather from — S5 77987 ORI 777Y 99 77910 IR 77T RDOR xbx
the end; this one claims *»2 77> and this one claims “>w 2n

OVERVIEW

The X713 states that X1 72 "7 derives the ruling of 73 177207 ARY¥N 772300
17217 from the case in the MwWn where 2w 7°X0 MR AN 2w 7212 W 71 In
other attempts to derive this ruling from our miwn, the X3 states that we
derive it from a 77°n° 71w, that this particular case in the 71wn is seemingly
superfluous and the 72w» mentions it in order to teach us n"p%nn. Concerning
this proof from *?w °¥11 there are two MR07 whether we are 07 the 0 X1
" 1% or not. MOYIN explains the X3 according to both NRD7.

— 15 n13Y 11 XD NN YD) NYT ION

There are those who are not 291 here, ‘why do we even need this’. The
reason they are not °2 1% 10 X7 0, is -
—19%2N QY N%23AY 13997 DY NN YIRPT P NP NN NIVNNT

Because we can infer (that 1"75277) from the m2n itself, where he claims

half is mine; meaning that he picked it up together with his friend -
— @195 9909 XY 19927 %99

So according to his claim he should receive nothing if we maintain 231
17°217 73p K2 177209 R°¥n, we must therefore conclude -
— 1197 19%2NY ANNM N0 INT) NIN

That rather by ™ an% X 3» 792, his friend certainly acquires the nxoun.
This explains why the *%w 7°%¥n is 7, since they both picked it up for each other.

mMooIN cites the continuation of the XIMx:
— 2599999 NPNA NNDT ANIYNIT INDN 7299

And the X713 challenges this proof; how do we know that the case of 7

Ww RN MR is discussing a nRox», perhaps it is discussing 2'"'%% where
"1 XYM awaT is irrelevant?! [There is no *1™X7 an by n"1n.]

MooIn comments on this challenge:

" The phrase * 7n? 0 7 indicates that we cannot derive n"pon7 directly from this ruling, but rather we can
derive it only from the fact that this case is superfluous.

% Xnn 92 "7 presumably maintains that if the ruling is that 17°2m 73p X2 192209 A8 2307, then we will not
say 1°12m? "1 37 7PWDIY *317 1, but rather that neither are 72

3 It would seem that if (we know for certain that) “>w 7°¥n is concerning n"» we could not derive X110
“1nnT that n"poni since we are not discussing X7 and 17°2n% 77237, There may be a question what is the
wTn of 2", but it still will not allow us to derive 1717, See footnotes # 6&7.
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— DY I8N NINRT NNT INTIY 81 MNT PN NI
And the X713 could have just as well rejected this proof (without resorting

to n"n) by arguing that when he claims 7% 77937 it means -
— I8N MIPY ADID NINNANNIN %5952 78N NINDON NINT )2

For instance that he claims I seized half of the n°%v in my hand, or he

may claim I picked up the n°>v entirely in order to acquire (only) half. In
either of these cases we could not prove that 1"poni7. The reason the X713 did not give

these answers is because -
— *PIINNT XN DT NN 191y YaN
He nevertheless could still infer 1"p%»77 from the extra maw -
— So9m45 919 199K NN 1999RT 199 INT 7aY
Therefore he rejected it in such a manner that it cannot be inferred even

from its being extra.
— % 1Y IN NN YDNT D90

And according to those text that do read "% 72% 10 X77', seemingly why does
the XM mention X7N° when we can derive it PN°INNT X911 as MoOIN stated previously —

mooIn replies:
— NOPVYIN99D 7‘.7‘1’)35 N N 1PINNT NONNT DIVNT 9D V)

One can say that we cannot infer n"phnn from PnoinnT X9 as 1

explained that the 73w» may be discussing where he grasps half the n°7v or picked it all
up to be 7P half, where there is no 121 Ax*XA TN,

nvoIn asks:
— NI MMINTY 8D NNINNA 999912 1D2ON 991019 NPNA NPT MNP INNAN s‘n\’)‘p N

However there is a difficulty; why does the X713 respond that ‘perhaps we
are discussing »'’°, even if we are discussing 7IX°X» we can reject this

* When he actually holds half the n°5v in his hand he is 7P without resorting to n"ponii. See the X ma
previously on &,7 that each one takes nva» 17w 2 3. He is not holding on to half the n°"v now (for then
he would (presumably receive it), but rather he claims that when he picked it up he was holding half the
o (see ‘Thinking it over”).

> There is seemingly no point in teaching us the rule of *>w % 2 71 it is similar to *7w 7912 2 1. The
only purpose would be to teach us 1"p?n1 (since we are discussing X*%n).

% Perhaps Moo means that by saying we are discussing 2" we cannot derive n1"p9a1. See footnote # 3.

7 According to this X073, we derive i"poni1 from 8. The X3 then rejects the proof because 112 Xn5T;
indicating that if the mwn is discussing »" we cannot derive n"p2n17 even from a X11n°. See footnote # 3.

¥ This question is only if we are > s> 10 X7 0, for then we are deriving it by asking that the mwn is
superfluous (if it does not teach us n"p717), so why do you answer that the m1wn is discussing n"%, how
does that solve the problem that the 71wn is superfluous?! The only answer is that »"1 is not superfluous
since it teaches us 772X 2°wn. We could have said right away that 7X*¥» is not a X710 since it teaches us
77aR 2'wn. However if we derive it from 1n*ann7 8913 then we understand why the 813 first answered X177
n"1nm3, since that is a simple answer without complications (see X"w177 ,w"X77 N1©0IN and 7w 2"7mn).
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proof, as the X n3x ultimately rejects it?

Mo0IN answers:
— ANIYNAT INNN PHITA 91217 W

And one can attempt to answer (with difficulty) that indeed this is what

the X713 means when it retorts, ‘how do you know we are discussing R 3%’.
— YYTIN HNYN NIT OIVN 991919 NPNPA NP NY *9nY1

For most probably you assume that we cannot establish this case by %'

since there is no novelty in that case, and therefore you assume we are discussing
XXy, for -
—99°2NY ANONN NY2IN2 NON

Only by 7%°¥n is there a W17°1 of 17°2M 73p 1M ARSEM 719232 but this is not so

— NI NTPAN 25U NI KT WITIN Y 99010 NPNA 999N 1) 95
For even if the mwn is discussing a case of »''v% there is also a w75 that

we do not consider him a 777928 2%wn» -
1099 N91NY Y91 XY NNIYNA Y99 ON ankin))

But in truth even if the 71wn is concerning 78°3%» nothing can be proven
for the w17 is that he is not a 77°2R 2°wn.

SUMMARY
Some understand that the proof from *7>w %11 is from the miwn itself; while
others claim there is no proof from the 71wn proper rather from 1027 X70°.

THINKING IT OVER

mooIn says we could have maintained that the one who claims *5w 7°¥17 is
really claiming that he was holding half in his hand.” If we would maintain
19°20 7Ip K2 1an aR°gn 1At why would he be believed to claim that he
was holding on to half initially?'® [Why could not have moon explained that
we cannot derive it from the XM, because the 71wn found it necessary to
teach us this rule in order that we should not think that he is not believed to
claim >7°2 7°X¥17 7°n05N (as in this question)?]

? See footnote # 4.
10'See mom yn and n"nx # 114.
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